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< ynit 1 Da¥ 16: Review Solving Equations Unit
7 Focus Question: Am [ ready for my e

st ?
1. Simplify each of the following: ' |
& X+5x+2-g b. =2 +4m —8 - 10m
X -7 - Q-3 #4m —/0m
-10-m
2. Use the follow

ing expression: 2a* — 4a + 7
How many terms? 3

b. Expand the firs term? ‘2¢4°4°9 A

c. Whatis the coefficient of the 2™ term? -J')’

a,

What is the constant? If there is not one, explain why not. 7

' mp 155 s
Can the expression be solved? Explain. o Decawst enpressers are semp ed. Cpas
are fha o that ean be s

; ofa
3. Find the volume of a cylinder with a height of 10 m and a diameter of 5 m. The formula for volume
: . . —-"__:'Q__ Q. 5
cylinder is V = nr2h with w = 3.14., S5

/= o2 =304
VBad@d¥0) ,:2.5

NG e aw.sl b dD
o 3]

4. One of the following expressions is not equivalent to the others. Which one is not equivalent? Explain.

A 52x-4)+6 B: 7(2 + x) + 3x C:dx+3(x—-4)—-2+3x
[0x-20 t& _ 19+ 2 #3x Ux #3x—]R -2 + 3x
JOx-1¢ 4 + /ox Ix 3x +3x - /2-2

Pt fox  nmabive [ Duitice e potliveld Oy ~ 1Y
4

/i J 7, [ e LE s L_, A 5
Dis 4?305:/:'»{ 1 whith rafes /1 L.
5. For which equation is x = -4 a solution? Explain. .
A:-5x+6=-16 B:3(x+2)=-6
-Sxle:-/6 [xHo=-{p X- -"fir 4 SD/QHM )DCV
=0l S e 4 2 we (hen T
~Sx = “A2 Rz =] | fait|
@ — = 33 tadmt onl dialiog "By oclbiiery
Xz =% X< -4 =-Y
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6. Jackie says that the equation 4x + 2 = 2 + 4x has @ solution because the 4 and the 2 are in different

places. Explain her error(s) in reasoning.
aclae (Anders tonds i

¥
() Ti{] OC 7D A '-'

-

mm 2

7. Solve each equation below,

a. 6x+3=-10 b. 4Qy-5)=-20
loxt3=b EY -SY-80
23 =3 ,%. 0= -0
_(gx =-_{3 4=z0_
L f z
bc [ J,” =0
c.2x—4=8x+2 d— 2(31""')) % z{sz?
—dz §x+2 ~Asx-£): % e
: s Re-ly 1 85712 |xz 2 [
— 4= [px 42 ~2t30:=2 [ ¥]
= 5 =) -30 =30 S
_..(e A *7%;“"‘;?,8'
-'7;1 -'?2
Zx'- -I!

X =5

c. 4(4x —8)— ]2x+10=-l4

Hds-9)~12x 110 == N

f.4-3(2x—-1)=5x+10"

d - lox 43 = Sx +/0

[bx-32 ~{2x 0= ~|Y

-—@Etz i,\c yardb)

_lox —tax =32 ¢l0= - [Y 7= lix +/D

~22:- 1 S3=the 7"

£ 99" o g

yx= § - 2 ]

{ [H—

Ix=2)

e
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